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Instructions for Candidates

1.  Write your Roll No. on the top 1mmed1ately on receipt
of this question paper.

2. The question paper has three sections. ALL
SECTIONS must be attempted.

3. Use diagrams to support your answers.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Scction I (W 1)

Answer any three out of the following four questions.

Each question is for 14 marks.
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1. What are the key features of perfectly competitive
market? How are price and output determined in this

market form in the short run? Is perfect competition

good for consumers? (4,8,2)
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2. * (a) The table below shows the number of cakes that
could be baked daily at a local bakery, depending
on the number of bakers.

Number of Bakers Number of Cakes
0 0 |

1 20

2 30

3 38

4 44

5 - 48

(i) Calculate the marginal product for bakers

employed.

(ii) Suppose each cake sells for $10. Calculate
the marginal revenue product of bakers.

(iii) Draw the marginal revenue product curve
of bakers.

(iv) Is the demand curve for baker’s downward

sloping? Explain,

(v) If each baker is paid $80 per day, how
many bakers will the bakery owner hire,
given that the goal is to maximize profits?
How many cakes will be baked and sold

each day? f
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(b) Show how the individual demand curve can be
derived from utility of a particular commodity?
(9,5)
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3. Discuss determination of equilibrium wages in the
labour market. How do changes in demand and supply
of labour affect equilibrium in this market? Explain

which factors can lead to a shift in the supply curve

of labour. (4,4,6)
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4, (a) What is price floor? Explain it with the example
of agricultural markets. Use a suitable diagram.

(b) What is price ceiling? Explain it with the example
of rent control. Use a suitable diagram,

(c) Discuss the positive and normative aspects of price

ceilings and price floors. (6,6,2)
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Section I (@Wz II)

Answer any three out of the question numbers 5, 6
7 & 8. Each question is for 13 marks.
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5.  How does inflation affect the distribution of income
in a country? Differentiate between Demand pull and
Cost push inflation, (9,4)

rrEnfe @ dm A sm @ o @ B wnfaa w27
fBale qor sk @wiee @ ERAR @ f9 I DR
6. Discuss the various components of GDP,

(a) Differentiate between net domestic product (NDP)
and gross national product (GNP).
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(b) What are shortcomings of GDP as a measure of

total mcome and of well-being? (3,2,8)
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Explain the different types of unemployment? What
are the costs of unemployment for any economy?
(9.4)
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Why is the aggregate demand curve downward
sloping? Briefly explain the effect of increase in

interest rate and government expenditure on the

aggregate demand curve. (9,4)
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beneficial for 2ll countries? )

(2) Give general arguments in favour of restricling
internation2l trade by a particular country.

(b) Discuss the problems associated with restrictions
on the part of international trade by countries.
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